GENUINE ACCESSORIES

G OBI Intelligent Designs 2000 Corp.

Denver, Colorado 80211
RALKS wuw. GOBIRACKS.com

GOBIJEEP TJ WRANGLER LADDER
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

Installation Instructions for (DEI JEEF TI LADDER PaRrNO. (HTJIL SHEET | oF S




GOBI

IntelliFent Designe 2000 Coxp.

Denver, Colorado 80211
RALES www. COBIRACKS.com
GOBI.JEEFP TJ WRANGLER LADDER
INSTALLATION INSTRUCTIONS
Included m Iat
Letter Description Location Quantity
A FOEI 0% JEC JEEP WERANGLER LADDER Main box 1
atrapped to
B HAMNGER PLATE Ladder 1
GOBI LADDEERE LIOUNTING HARDWARE
CONTENTS: 4 5A6-18 % 1" 33 Button Head Serew
a- 316" 33 Flat washers
C 4 5/16" 33 Lock washers st 1
4 576" 33 Lack nuts P,
1-37/8-16 x 1" 353 HexHead Bolt
2- 38" 53 Flat Washer
1- 378" 33 Lock washer
1- 32" 53 Lock Mut

Installation Instructions for

GBI JEEF T] LADDER

PrEIVD. (3ITIL SHEET 2 OF 5




GOBI

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBIJEEP TJ WRANGLER LADDER
INSTALLATION INSTRUCTIONS

F.ear of Roof Rack

Fig. 1

Installation Instructions for

GBI JEEF T] LADDER

FrEINVO. JTIL

SHEET 3 OF

5




GOBI

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBI JEEP TJ WRANGLER LADDER
INSTALLATION INSTRUCTIONS

Eear of Eoof Rack

(:1
9 Fig. 2
Installation Instructions for (DEI JEEF TI LADDER PaRrNO. (HTJIL SHEET 4 OF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBIJEEP TJ WRANGLER LADDER
INSTALLATION INSTRUCTIONS

IMSTALLATION INGTEUCTIONG:

F.efer to page 2 make sure all hardware listed 15 present prior to installation.

Feadall directionz carefully prior to install.

Fefer to page 3 Fig. | and remove Hanger plate “B” strapped to Ladder dunng shipping.
[Tsethe 5/16-15 = 17 button head Allen screws, flat washers, lock washers and lock nuts

#1 located in Bag #1 of your hatrdware 1t to attach Hander Plate “B” facing upwards as
showninFig 1 to theunderside of either the rear passenger or dnvers side welded 1n

suppott platez “H”.  Choose the rear attachment side of the roof rmcl based on your

ladder, passenger or diiver side. Finger tighten screws only at this time.

Fefer to page 4 Fig. 2align the round hole of flange “C 7 located at the bottom end of

ladder “A" to the outside of the round hole of fange “D7 located on the Gobi Faclorear
support bar™ 17 as shownonpage 3 Fig 1. Usethe 3/8-16 2 17 hex bolt, flat washers,

lock washer and nut #2 located 1n Bag #1 of your hardware lat and attach as shown in

Fig 2paged.  Finger tighten hardware only at this time.

Fefer to page 4 Fig. 2and align top htacket “E” ofladder “A™ to hanger plate *B”

previously assembled to roof rack and attach using 5/16-18 2 17 button head Allen

screws, flat washers, lock washers and lock mits #3. Finger tighten hardware only at this

time.

Fefertopage 3 Fig. 1 and open rear door “F” completely at this time.  Carefully lift rear door
window “G7 and malke cettain that clearance of at least %47 12 availahle between the window at its
highest point and ladder at itz clozest point to window  If needed ladder "A™ can be moved and
shifted away from the rear wandow using the slots in hanger bracket “B ™ as shown on page 3 Fig. 1.
Cnce the adjustment has been made completely tighten Hanger plate “B” to roof mols welded

in support plates “H” ag shown inFig 1 page 3.

- Eefer to page 4 Fig. 2 and completely tighten securely screws 2 and 2 as shown, Al

ladder "A" screws and bolts must be completely and securely tightened at this time  Ladder
nstallation 15 complete.

Installation Instructions for (DEI JEEF TI LADDER PaRrNO. (HTJIL SHEET S OF S




	Gobi Jeep TJ roof rack rear ladder install page 1
	Gobi Jeep TJ roof rack rear ladder install page 2
	Gobi Jeep TJ roof rack rear ladder install page 3
	Gobi Jeep TJ roof rack rear ladder install page 4
	Gobi Jeep TJ roof rack rear ladder install page 5

